WETEER

S 6 FE—MSFHHETHEE2S WmEAR

(84t : F)
. " M R
= R H HRA EE EIT S5 1 Zoft —IRER w %
2. 1.1 BRI e FE 1,167, 893 5,028 1,162, 865|F8URA
—RERE (KERES) #IE % 2,000 2,000
8 IE & 1,169, 893 5,028 1,164, 865
WEEEST 2,000 2,000
2. 1. 15 EELHERES TEE
HE # IFE # 21, 646 21, 646
#IE % 21, 646 21, 646
fHIEXRET 21, 646 21, 646
30101 (EFfEEXIEOH SRS TEE
AT S () ® T 8 121,837 121,837
(B S E BRI EE) W E 121,837 121,837
fEIEERET 121, 837 121, 837
5. 1. 1 B EaE THE 1,374 6 1, 368|Emmz
B (SEBEIEE 5 —ERRERETES) # T %8 990 990
#IE % 2,364 6 2,358
WS 990 990
6. 3. 4 TRBE RS 78 530, 613 220, 000 225,700 54,100 30, 813|EEEE (EXEREY)
s (BEBAHEZ) ®E &
8 IE & 530, 613 220, 000 225,700 54,100 30, 813
WIERE
8. 2. 1 BB £ > RBEE R 38,478 38, 478
EHIEY £ SRBEER | (EER) # T %8 1,400 1,400
8 IE & 39, 878 39, 878
fHIERRET 1,400 1,400
9. 1. 4 (YA PREE S 78 76, 831 303 229 76, 299 | AR, FUIXA
s (KB SEERES) ®E & 3,150 3, 150
8 IE % 79, 981 303 229 79, 449
fHIEEEST 3,150 3,150




M H H = EXE MR AR i
ElE RE #751E TNt —AREAIR
11201 BB ERIASER B ¥F8E
RWEXEEIRE FH6F 2 BIEKIE] 8 IE %8 3,000 3,000
(BB X EERIRRERE B RTMN) i IE % 3,000 3,000
fHIERRET 3,000 3,000
fHIERE S5t 154,023 121,837 3,000 29,186

(fEE) (BRI BRRRO [0 ORETE S,




